I s
£
s
5
£
wooy =
 “ i
g
N ¥
S
6um) 0-8 8
F-62 % 02T H
aboiog) M ‘o]
Bupe)
PUOSWN 0-8
Obgx 0-41 mv o
Wooy snLog h
O -
m 1 Buge 0-2 ke
R Suged 0-£1/,0-Z4 LS .nl:.%_ <
hnioic FoEE XL a
ooy bug Sup0 0~ [T
ooy gBa Loy H_
P
bum) 001
O iy | P
InGUS3A
j g
11
Bupes 0-01 Bup) ,0-21/0-
PR ook .N_% 2
(uonpeg ooy Buar w0
I bumw) -0
e 0-T2 % G-l
— Wo0Jpag Jaisn),
_ . 1
Bugy —
g | J
Or o i o
) 10 paiand’)
bu) 0-01 m N
O-M X f-gl |
€ WooJpag " amo -1
| D81 X 0= 0/L2/5 10Q pasiey
(]
“ ooy fung IS 105 DYoL
S 6 yoio4 abo.ng
45 6% Anu3 juoyy
T H O IS 768 Yosog pasano)
_._H:_._ll. IS 9L 361035 /3bo.g
15 % wooy ‘s
bupd ,0-01 1S 009¢ buir |ojor
O-41 X 0-L1 S 068 wooy snuog
ooy an2) IS 1428 Bur ol 38
503l
O 009 %0y




